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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination, 2022

PHIACORO3T-PHiLosorny (CC3)

Time Allotted: 2 Hours Full Marks: 50
The figares in the margin mdicai: fulf marks, 2T FTE T T AT e we

€ opmalicenroy abould anvwer Ja thede oan weely sl Rres wiwy v =oe =winr wy
il gelfiery o the word B s practhoahie Fe= oiww

Answer Question No. | and 2 and any rwo from the rest
St WAt 3 At o TR Wie wiat (R-caTe KB ez Tea Akl cutE we
1. Answer any five questions from the following: 2x5=10
fefefane et «fsf6 zrea Baqmes

() How many types of Rea are there? Mention the names of different types of Runa.
e srewe ¢ F1 8¢

(b) How many pramdnas are accepted by Chdrnvdka Philosoply?
i weira 2l e T @ T 4

(c) What according to Mvava Philosophy is the nature of Sannikarsa in the casc of
perception of soumd™
Tl EHICE THA ST (e R aerid ST 0 ¢

(d) Whant are “the four noble truths” in Bauddha Philosophy?
e weirsm HRlD W= e 1 H oy

(e} What is “Trirama™!
fgas # v

() How many paddrthas are admitted by Vasseyihay and what are they?
ATt g o wE 2 6 F A g

(2) What s Pardmarsa’
w0 o g

() What is the meaning of the term “Syar’ in Jaina Philosophy?
o Wi HyIe’ W ad & ¢

(1) How many abhdvas are admitted by Vasesibas and what are they”
T w0 wem wezwr ¢ H F g

(i) What is *Padcaskandha™?
s F 9
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Answer any twe questions from the following:
frifere o-coeen ¥f e Gew me:

(@) Why Fudpti is impossible according to Cdrvaka?

5 WOE 100 W (e wEq 71 ¢

(b} Briefly explain the Juinag doctrine of Anekantavada.

T MrelSTaate SU0sr S 40

(c) Explain the eightfold path accepted by Bauddha Philosophy.

@ e W W W =

(d) Explam Padcdavavavi Nydva accepted by Nydva system with suitable example.

2020

AT W Buleaers Sl i <im0l

Give an account of Carvaka materialism. Is this theory satsfactory?
i e e w1e) 4% T8 fE wameee o

What is the meaning of the term “Sar' in the Bawddha Philosophy? Explain
eritically in this context, the doctrine of momentariness.

e weirs e omloa ud 5 ¢ 08 oors wlagan =R wEmen =)

Explain the Nvdva definition of perception. In this connection, explain the
different tvpes of laukika xannikarya after the Nviva Philosophy,

Anrrs weiess evasls e w93 enm Ty We wepira [Afen san Tfes
sfead T G a0

Explain the nature of Semavdva after Vaidesika, Distinguish between Samaviva
and Samvoga.

Tarafis wele wepaira waar wwnlle warer wrssH) W FEER & WmeE S0y ende)
femmote =tz

NGB Stdeny funw do compiivte safimissian of their davwer Scrges teowgh Eaeail © Watsagp
fo theve o respective colfeges on the same deay £ dage of exominotion within | fowr affer
end of exceme University © College autbovities will oo b deld resporsdile for vrong
subavissfon (@2 de proper addaess), Stedents arve strmgdy advived et fo sehmit multiple
copiles of the sanie anwer script,
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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination, 2022

PHIACOROMT-PHILOSOPHY (CC4)
HISTORY OF WESTERN PHILOSOPHY-]T

Time Allotted: 2 Hours Full Marks: 50
P flasires e the mansin dadicaie fill manks, =nfye Fruw vere el e i s
Canclidates should anvwer 10 their own wardy wdienlt farew ST T X AT S
anef avelfvery o the wond lims oy praciscabie Bar e

Answer Question No. | and 2 and neo more questions taking one from each group (*A” and *B")
YA @ 3 e el g frent ‘2 6 0 e e e A e ¢ 2o Teawe

I Answer any five questions from the following: 2x5 =10

fraffre - «ffd 2w Tea wiss

(a) Explain with illustration the rule of Universal Generalisation,
Bzt e smaifieas afS aren aca

(b) What is individual constant?
afs w=a A v

(c) Fill up the blanks:
W Y W
(i) ~@x)=- Fx= Fx

(i) =~ (kW Cx D~ Dx)=(dx)
(d) What is meant by substitution instance?
s wEra ww e € @am g
(e) What s the need for quantification?
sneleiem eonede 1 ¢
(1} What is Analogical Argument”
Born gfee s am v
(2) What s variable? What are the types of variable” State theirr name,
TITT TS 7 ¢ CITF TE TR ¢ KR AW SURE T
(h) What 15 Ad-hoc hypothesis?
o eww F g
(1) What do you understand by sufficient condition”
eriflg & Fee F @AW ¢
()) Explam the addition theorem of calculating probahility,
el weim gries #alB i s

2076 | Turn Over
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2, Answer any twe questions from the hllowing: 522=10
fesfifere o 4iF smwa Taz et
(a) Distinguish between truth function and propositional function with examples.
FELITHE € AGiaT TLAPHCED S ST W8T FELS A )
(h) Symbolize the following semences by using quantifiers, variables etc: (any two)
fasffare amafins e, ofeanss Tena wam adtefire sums (@-@ 515
(1) Some roads are passable if and only if they are dry.
% (T o 5 ca wfie gae oraw w9l orefn ewT am
(11} Men and men alone are rational.
Wi @4 s WepR qfefer
(1i1) Dogs and Cats bite i they are either hungry or teased.
F54 9 frow weE aren o om g wva e @
(c) What is apriori theory of probability? State with example.
werReR offsiim wefl & ¢ T o e
id) Explain the limitations of Mill’s method i brief
farere wrafen Fruraerer smoscet v wa)

(¥ ]
V=
L
()
LI
RF

GROUP-A
fasni-=
3. Construct formal proof of validity of the following: (any three) §x3=15
faffee gfesln wemre Tare s s (@- &)
(@) (0)|Gx = (Fx v Fx))
(AN Gy ~ Fx)
S3 G Fr)
(b) {x){Lx = Hx)
(YO 2 Gx) 7 = () [(Ly v Ox) > (Hy v Gx))

(¢) Bees and Wasps sting if they are either angry or frightened. Therefore, any Bee
stings if it 1s angry.

e ¢ @el e o o T FE o a3t A e, (1 & il e
A W T I I

(d) All citizens who are not truitors are present. All officils are citizens. Some
officials are not present. Therefore there are traitors.

Faw anfas a@ wfEd W, om befes wnm wwe swlded afe = anfie) @m
@ i v R wea, IR TR

4 Determine the mvalidity of the following arguments by the method of truth value  5*3 =15
assignments: (any three)

e wrErer ae farae feef ware waw s (@@ femlh
(@) (Jx)eNx-Mx)

() Nx-Lx) f ALy = M)

2076
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(b) (x)(Dx =~ Ex)
(oW Ex D Fx) [ o0 (Fx 2~ Dx)

(¢} Some men are bohemians. Some men are artists. Thercfore some artsts are
bohemians,
I (T W SR | (T T e ) weak e e el s

(d) All generals are handsome. Some intellectunls are handsome, Therefore, some
generals are intellectuals.

oo pwirfe o B @ @ R @ e Heaq (e @Ta Geefe @
e

GROUP-B
festt-
5. What is scientific hypothesis? What are the criteria for evaluating scientific
hypothesis”
tawfee sare ane aF ¢ Al e gEece aemasiE B o e A

fr. Calculate the probability of the following events: (Any three)
frafefare whmafa »uie Gl s (@-enw) fealB)

(a) In a book fiir, there are five entrances, Four friends come to visit the book fair.
What is the probability of their entering the fair by the same entrance?

] W FEATHETY ST ST o WY | (A (TS WP BIE A4 o e o Wy
AR FEES FE ¥
(b) In drawing three cards in succession from a standard deck, what s the probability
of getting three hearts?
(1) If each card is replaced before the next draw.
(1) If the cards are pot replced.
o=l B e oiret cdoe wave feal en g faon, foalt oiond waes zm
T ey
(i) T wa=d e (e " «Fell epfd wwas Mfam oeen o)
(i) % (2P = R | e W
{¢) What 1s the probability of getting at least one S from the toss of two dice?
FIEE S YEvE qare W W uwe: aaam +fs vw Feee 9w ¢
(d) What is the probability of getting atmost one head i three tosses of a con?
b w= foaar Tose o wafie g9z (5T 2R FEETe % ¢

NGBt Staadenty fasvw Jo comygalete sobmbsion of tele Ansaer Scrips throwgh E-muil | Wlhetvagys
do Wty o pespective colfepes o the same dey / date o examination withi | e affer
end of exam. University © College authoritles will oot de hedd respoitile for wrong
sufminsfor {u? te propee addinto), Stiederts are atromgly advilasd et po submit mltiple
wigies of the vanw arywer seripl
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@

WEST BENGAL STATE UNIVERSITY
B A Hoenours 2ad Semester Eammation. 2020

PHIACOROIT-PHiLOsOPHY (CC3)

Lume Allowed: 2 Howurs Full Marks: 50
T thgmtien oo plie denargper dnclcaane Pl andaris =fye Fuy oy we ot S are

§ cimdbias wimapdd sy oip e oem il eonilty Sree BT TV FFE wadiye ire
siad it Bor fhe wverad Bl ao praeti ail 4 """R"

Answer any tree questions from the fulbowing
Fsferfae cu-carmsy feal smee T5a s
General improssion-2 marks
T -2
I What is Padirtha, sccording to Vaiseyika School* How many kinds of Padirthe [+2+10+]

are admitted by them? Write the names Define and explam the laksuma of
Siimginva after Vaisesika School, Discuss the classilications of Sdmim .

Wmmﬂm@yﬂﬂﬂﬂﬁﬁ&ﬁsmﬁmmm
>t 80 ToENvEe MrTE A

> Mow muans Bhiie are sccepted by Candka? What are they” Explam and  |-2-8-5
examine the Carvdka’s view of 3tman
yie 't ST g Eiatg &8 41U v AN (FN) WD WTE WA TL AT 8 Tt

S

E Detine perception folkiing the Vidie Distinguish between \irvikalpmata and S<h3
Sodhalpukin - perception How do the Naivdvihas prose the exiterce ol
\irviklpika perception’”
ar sEnnd wes wya aw 3 HeaTe 6 HRave LIS vide) GEes e
ssrfraes fegme SfiTve yomee <Y oxw o=y

1 1a) What are the Dranavies of Paidvavad M | splain with sutable examples 61
AT wre v ® anme waeg’E o Ty Bvarg afmye FUT 400 o
(B How is v ascenaned in Nadva philesophy

s T O EEe T Ty

B 1 Tiirrt Ot
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5. (@) What is the meanmg of “Suds” in Jaina Philosophy 7 2«14
U9 T e
{b) Critcally explain syddvide of Jaina Philosophy.
W v A sfasm wensea e

6. @) What are the four noble truths in Bauddha Philosophy? =14
@ R el v v H By
by Give a bl account of Banddha protin wsammpdadendda
e mltergremearea mfsg o we

7. Make a distinction between Luwkike and Alowkika Sommikarsa, Explain with fr= |01
examples the different kinds of Lawkika Sanmikorsa,

e & wPfe e w e Gefn e Sz @SE s e
Fe 4y &)

8. Write short notes on any mwe of the following: 82=106
T ol wibe Tew e e
(1 Arguments of Clirvilka against Amondng praming
o e s sHraTe e
(i) Arekidmonida
LUZL S
(i Eight fold paths of Bauddha Philosophy
A=A sEms
(iv) Viseya as a padiriha,
e v

NB. 1 Srodenis gve o compleae submeiysion of their Answer Sceapes thvaigely Famoi) Wikarsaapipy
fo their anon respective colleges on e e day © dhate of cxumsmation wittnn | howr aficr
end of evom Lhevernity - Colloge aithorities will vt be beld vespeamable for wrong
virhmisanne fel i proper achiens) Stinkoats e seongpli ahoised me o sabeni slople
et ool Hfae sumne e voripe
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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Laamination, 2000

PHIACOROT-PHILOSOPHY (CCH)
PHILOSOPHY, WESTERN LoGic-11

Fime Ablomned: 2 Howrs Full Murks: 30
The flgwres i ibw margin sviicole fulf marks 2rFE frr Ty o wvew v

U armifisdite s shvialcd cmpmar in fleie over irargy el Srve T vy xye et e
wavd anlineve o dhwe awvirid My L] P,n-u;”. aihide m m

Answer any Hiree questions taking ot beast one from cuch group (A & H)
F 4 o0E wyE g2 ara o By a7l e Tom we
GENERAL IMPRESSION: 2 MARKS
Amras SealEir 3 WA
GROL -
fasm-a

I Wrrile in short 4-4-K
ey Tae W
Explain with example the principle of Existential Generalisation (E.G.
wigs Franiteon Jfef Twmaon e oo,
thi Whan s a substirution instance”! Give example.
faraw. wB1e aye 4r= v Tuas w1
W hat s & pormal form lormula”
s s &1 »

L

LY

I imd the normal torm cquivalent to the following:
suvle Ml arare ojg anm:
1 V3] v Py
(U - | I e LU

LTI Y S L T R ]

A Consteudt termal proot of validits of the ollowing vany fouri d4=4= I
fafefire sfselea wmemers Tave euw arn! (i srih

(1 Some photographers are shalllul but mot  maginatine, Onls ansts are
photographers, Photographers are not all shilltul. Ans joumesman s shiltful
Theretine, not evers artol is o jourmes man

oy PR TS TF aweree o | mernr wET ayowe w2 whewE
FA T LA ST W e v T soefeer o

i I Larm 1)
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(i) ()(Ax v B)=(Cx- D) A By =2Cx)
(i) (xMGrD Ex)

(oY=~ Sy)

(3T - B 3o Gy - Sx)

iy s Fr=atnny
(Zx M Fx-=Gx)y Aoty = Ex)

(v) Bananas and Grapes are fruits. Fruits are nourishing. Therefore, bananas are
nourishing.
T o= WigA 0T B ow g ~fRea vy, 2 o vfRaw

ivi} (x}Ix=dx)
() Ix-~Jx)
s I

Determine the invalidity of the following arguments by the method of truth salie
assigniment (any four):

T wicayHe B fon e fealne s e ann: (e Sl
M APy O

(XHPY D~ Ry} i Ry - Qv
il [ Few S)oiCrew Ry

() Dx =08 v Rx)]

(x1Fx=lx)

(3v) D

SA3x Sy Rx)
(i) (Axy( By~ Cx)

(xlDe=~x)

M e By

Civd N diplomats dre extremists. Somg Tanats ane estreimists. Therelore, some
diphvmuats are lanatics
e gurfem o smmefl oo @ e afe o sewed . weea, cmmn
e 4balem nitw,

(v) 1 ansthing s metallic, then o is breakable, There are breakahle amamenis
Theretore. there are metallic omaments,
ufe e oy wgatel o wre o) oW TWR U5 Wiy Foa wrpa Tefe onge
=i

(vi) All anarchists are bearded All communists are bearded. Therefore, all
anarchists are communists

wow Rmer® m e e =WESm w efige som, e
TRTEEEm s IS

44
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i Answer any fwo questions from the followis
Foufefare cu-canren T eiwe e v b

{a) 'I-\p‘l.sig'. with example the principal the b xistentmd Tostant ition (F 1) Write the
limitations of the prmaple of L |

et wtfes skllaa (1 1) ol e et e el gy ) diee
FnrmreialT (FTeE)
uhi Sumbohize the follow i seimeiwes By isang uantifiers, varmble cle
naweine gaoiece wies, aifenize Tarfea Wl vl e are
Uy Some b aie s cosslin) but vt well el
fay e Yue jag xwine ol
L) ¥ versihing is beautitul
Lintd Drimna was not happy
groren 4 fem

(v Only lawyers and politicians are members.
TTITE TEAE § AP W T
(o What are the differences between propositional funetion and truth function” Write
with example.
LogerFy ATSOES § FETISTE WK ol sy aren
id) What are the different ways of gelting a proposition from propositional tunction ’
sﬂmmmﬁnmﬂEmﬂwmmnm:mmam

GROUP-B
fagm.

5. [ xplain the diflerences between scientific and unscientific explonation, Discuss
with examples the seven STIges of the schentilic method.
Tawlee @ MWMWWMIWWMHM

4 0

6 What is analogical srgument’! How does W differ from mduction per simple

erimerat ion”
ypoegea LN SIA e AF ¥ Ries urme BN WM ARSI

eI w19, (I Y

7. C alculate the probability of the follow ing vases (any four)
Tstearr e ot wEm e fom s (0=
(v An um cantaiins f red balis. 4 white bally and 3 Wiack balls. What is the
probuhility o getting three black halls, if three balls are drawn from the urn’
gl *0eg ammn,uﬁummmnﬁmwm-*ﬂmﬁﬁmw
carw) sov TEwmet B W MElR HyFY Ty

(i What is the probability that in rolling twe dice the total numiber of puiiits on
the op foce woukl be 97
s v el fier e o FTe CTIT AR e T ¢

o | 3 3

LR

4412
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Lith In a book far there are five similar entrances, Theee friends mave <ome bo

i

vy

visit the book fair. What is the probabilits of their entering the fair b the
same entrange”

=t wrawon T wrEree Ty n wE 5

Whar wothe prohabiliss of not-getting 3 Ring in Lhrée sUloesEN Jdraws of
cands fom g dish of cands

LAT) U evra’, e Sypws v Yors SHnedd vgd B O e gYR XFPCY
L %

What is the probabiliny of getting three neads and 2 12l 12 Tossing fvr Soms
nnge

1M ie Lo Urne sere Sea® as s s TE e peYaS &2

Write short notes an Lany fwe)
et e (e off)

Enl Explam wah example Ml s Methosd of Ngreement Shess dlws @y foem
Tetger fory o snate olun Some naf oy g are

(i Cana ypothiess v atwolutels sentied o iE oA
W EE e B yatwea AR e T . e Tares vere wig Uy

0 sphnte andd dllostrad the pretdent |

&7 "% iy edid i P adnwlimpmng

Pl s

WY g e Qe A PR N g ':-:-ﬁ\t- T

idd Wrate o shiwt ihe € oopos T e o Nl s e
F-ﬂtﬂ'. vgliair yerd s've yUTEogE e g

LW

Sl & o VR T LR W P e R i ik e b oy g .
LT T R R LTRSS P T i b - &M,
aoag oW puem | e RN ] v ol = red N Mgld fytamusl A - .y

g s gl o peidw s iy iy o B B e Ay =

raa e i e i Ve e PP
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o

WEST BENGAL STATE UNIVERSITY
HA. Honours 2nd Semester Examination. 2019

PHIACORO3T- PHILOSOPHY (CC3)

Time Allotted! 2 Hours Full Marks: *0
Tive figwncs im ihe mgurioe imalivate wil maria o Muio very = el eims Goev oo,
Ceamdhuboiers showld sossaver o their s ey edulfr Crasr = e vpe esfye e
and wilwee tn the wend Limig we poog tivable Sy ot

Question No. | and 2 are compulvory. Answer any fwe from the rest.
3 At 3o o wafere ) wa el ocaicn ¥ sioes B we

1 Answer any five questions from the following: 2=3+= 10
fovfetes -coton wffsfB iwe Bee v

(a) State the meaning of *Roa’ and name its different types
"wer mrwa w R e B wewalne e Soe wTm
(b) Distinguish between Sreva and Preya.
Y G (.3 SO S A
(#) What is Svabhivavida?
WEN™ SIS a(m »
i Name the Realistic and Idealistic schools of Buddhise,
i i ! & s e five A BUEe W
(€) What is meant by “Nepw' m Jainn Phalosophy ?
o Wi T e A g
Y What is meant by dpta in Nydya Philosophy?
T ey gee 8 e 9
(@) What are the five avayavas of a Pafcdvayabi Nyiya?
wrecar S el wave A e
) What sanmikarsa bs required for the perveption of Sabdistva?
=g TS (W FEET Ty
(3 What kinds of Karma are accepted o Vasesika Philosophy” Give their names.
tareiu wim o zow o3 Haw o0 W ¢ S STaelR S am
{j) What are the Panca-hofa?
oz (8 4 3

028 | l'an Over
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2.

Anvwer any fwe questions fiom the lollowing.
fweae c-corst o =0z Vo2 wur
jﬂ'l}h:uhieﬂy the Clrvika theory of self.
SIARTRE ] W Waarell wwoe S s
() Explain the Jaina concept of Jhw
teesrme Wi werl g e
(€} Explain bnefly different types of lawkika sannikorsa with examples after Nyliva
Philosophy
FIRwe spes fifee wam oRfess wes shrwm wowce =iwmma @)
(d) Distinguish between Samavdya and Sasyopa.
WA & o e et e

What are the Clrviaks srguments [ favour of the view that “inference i not a
source of veridical cognition™ Is this view satisfiasctory? Discuss.
“UaEE e S - o sefts wwae wegon viele 8 8 o we & e ¢
WS e

Explain eritically the Buddhist doctrine of Nairdemavada. Is this doctrine
consistent with their Karmavdda” — Explain.

e Targae By fasavis Aol s o we A woe sl we law
— T =

Explain the distinction between Nirvékalpaka and Savikulpada perception after
Nybya school How do the Naiydvikas prove the existence of minvikadpats
perception? How is Savidalpaka perception known?

T T e o sfews ogren ode feee ) Tiftees Srere
fFflewe moiree aiey v stas » ¥aows serers Fewe ot Ty

What do the Vaisesikas mean by abhiva” How many types of abhiva arc
accepted i Vaisesikn Philosophy? Explain with suitable examples. How s
abhava known?

TR WE W Si® Wn ¢ TR iR ¥ ol wew Niye ER ¢ Teae
BUITRVRE T @0 WsRre Srele sl vy

£

5=2= {0

105

1045

4542
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@

WEST BENGAL STATE UNIVERSITY
B.A. Honowrs 2nd Semester Examnination, 2019

PHIACOROMT-PuiLosorny (CC4)
PHILOSOPHY, WESTERN LoGic-1

Time Allotted: 2 Hours

N fgwre s m che margin dicare Sl marke
Candiviates showid arower in their own words
wrnd walbure W i word Fimit o prs tivadds

Answer Question No. | and 2 and iwe more questions taking one from each

group (A & B)

3 9t AU o e w0 @ o e s e Fcy wice o s B we

1. Answer any five questions from the following:
fuffes ou.cown ofsfd eme Ten ma:

J2) What is propositional fumction”? Give an example of it.

TFRETF FUT T ¢ GO S e

W) Explain Principle of Liniversal Generalisation,
e SR S A

(c) Is the following susement correct?
ol fewsy
~{3x)~ My =~ (x) Mx

(d) What is guantifier? What are its types?
WS FE IF + A T EBA 1

{e) What is individual constamt?
Tfts 5% IS WA Y

(1) What is analogical argument?
b gl

(£) What is the product theorem of calculating probability? — Explain,

gy g ev a8y e w
k) Grive the form of Method of Difference.
aftred vsfon wamonge

Full Marks: 50

=fow Fuw vev me? ooy Bk e
=Folle Srow e v xpe vl 2w

2x5=10

Tutn Chwer
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(1) Wha: are the particular cases for which the Method of Concomitant Variation i
most suitsble?

T (W T CwEE e videda ahe wesre ool Seru o
1) Distinguish between free variahle and bound variable with illustrations
T TS € T WA U s e e ar

2 Answer any fwe qusstions from the following: §=2=10
wfEfee (x-comn off mowe Bee ma:
(2) Siate and explain the Iimitations of the rule of Existential Instantiation (E.I). 5

ey Tt (1 1) Fuoa Serearel o st
l}rl Symbolise the following sentences by using quantifiers, variables etc. (Any ) ;,‘1“”
faiefe aoefine e, sfows Yo Moo wBafs s (@@= o) '

() Nothing is both safe and exciting.
owia Ty <% wow faavm @ Brews T

() A giel will win ifand ooty if she Is lucky.

o cuce o8 s ol s coen ol o el e
(i) Sits is » good singer.

T e
'pﬁwtmmmmmdmtmmm‘mm 5
18]

B fory o wte rfern welh- gifeced ~wife e v
(d) What is the need for quantification? s
weefelve Ao e fa

Answer heo guestions, tuking one from each group
wit farwtet cerw ol w2 o firy 0% ¥ aow Sz we
GROUP-A

fasm-»
3. Construct formal peoof of validity of the following: §e3= 1§
fawietue feeiing weres tave) oo e
() (x>~ D)
(3x)(Cx- Ex)
" (@) Ex ~ D)

276 2



CBOS/B A/ Hons 28d Sem/Philosophy PHIACORBST 2019
{ii) Socrates is mortal, Therefore, everything is either mortal or nol mortal.
S T | A A T e T e AT

(i1 }Oranges are sweet. Lemons sre tart. Therefore, omnges and lemoas are sweet
o art.

oot k) oo B e w0 e el e B

& Dotermine the invalidity of the following arguments by the method of truth value  5x3 =13
assignment:

FErgE wTeE v fHors jfeeier W ewe s
)i} (Fx) [ Ps - (Ax ~ I}
() (Px = Gx)
(E{Px = A4x)
(%) (8x = Ax)
*. (A0S ~Gx)

There is nothing made of tin that i= not cheap. No rings are made of lead. Not
everything is either tin or lead. Therefore, not all rings are cheap.

B faffe gwa cowa fofam G m s s oG wm o telh s e @ B
sy #om ww . e wa =l Wy

gRl) (AN (MY NX)
(AX)(MX - OX)
. (XJOX = NX)

GROUP-B
fasmw

5 What is Hypothesis? Explain the crileria used for sssossing the worth of i+10
iy o sis.
wap A ; =% WA MHTgei 4T el

S Calculste the probability of the following cases: $=x3=13
fawfefrs cerefim werre B 3om
(i) Four men have their houses in four comers of a square. They spert one
evening in the centre of the square. At night, each person went back o one
of the houses, mo two going to the same house. What is the probability that
each one reached his own house?
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waft o sof wgowe ewren sreraere sl 2fice airs ) aafa I e
AT SR WA T 0N IE T anmrs g% o ufie e
W ww et o A0 WS ) eees Hrear faoew wftre e s
ey

() What is the probubility of getting three hearts, in drawing three cards in
succession from a standard deck”
(a) If each card is replaced before the pext draw.
() If the cands are ot replaced.
ot won et e wen R I o B P IR wes
FWHTE FE
(0) W wiom wp czi e veled e s oy crew =
(b) w8 copn e FRRR W CReW BT

(if} What is the probability of getting at least one and at most one bead in tossing
three coins”

el 5o B 00n wwE: G ST TS SBE (TG YR PR FL 7



